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MATHEMATICS

11 JAN. 2019 [SESSION 9.30 AM TO 12.30 PM]

RED COLOUR CONSIDER OFFICIAL ANSWER (JEE-MAIN)

1. If xlog
e
 (log

e
x) – x2 + y2 = 4 (y > 0), then 

dy

dx
 at x = e is equal to :

;fn xlog
e
 (log

e
x) – x2 + y2 = 4 (y > 0), rks x = e ij 

dy

dx
 cjkcj gS %
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 
  

 
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y = 24 e

 
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e 1
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4 e 2 4 e
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 

2

dy 2e 1

dx 4 e






Question ID : 4165299216

Option 1 ID : 41652936325 Option 2 ID : 41652936322

Option 3 ID : 41652936323 Option 4 ID : 41652936324

2. The value of the integral 

2 2

2

sin x
dx

x 1

2
  

  


 (where [x] denotes the greatest integer less than or equal to x) is :

lekdy 

2 2

2

sin x
dx

x 1

2
  

  


 (tgk¡ [x], x ds leku ;k mlls de egre iw.kkZad dks n'kkZrk gS) dk eku gS %

(1) 4 – sin 4 (2) 4 (3) 0 (4) sin 4

A. 3
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S.

2 2
2

0

sin x sin x
dx

x 1 x 1

2 2

 
 
 

              



x x
1

   
         

x x
1

   
         

2 2
2

0

sin x sin x
dx

x 1 1 x

2 2

 
 
  

               



2 2
2

0

sin x sin x
dx 0

x 1 x 1

2 2

 
 
   

              



Question ID : 4165299220

Option 1 ID : 41652936338 Option 2 ID : 41652936340

Option 3 ID : 41652936339 Option 4 ID : 41652936341

3. If  
2 m

2

4

1 x
dx A(x) 1 x c

x


   , for a suitable chosen integer m and a function A (x), where C is a

constant of integration, then (A(x))m equals :

mi;qDr iw.kkZd m rFkk ,d Qyu A(x) ds fy, ;fn  
2 m

2

4

1 x
dx A(x) 1 x c

x


   , tgk¡ C ,d lekdyu vpj

gS] rks (A(x))m cjkcj gS %

(1) 9

1

27x


(2) 6

1

27x
(3) 3

1

3x


(4) 4

1

9x

A. 1

S.   
2 m

2

4

1 x
dx A x 1 x c

x


  

= 
2

4

1
x 1

x dx
x





2

1
1 t

x
     3

2 dt

x dx



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Case I : If x 0
31/2

4

xx t
dt

x 2


   = 

1/21
t dt

2




3/21
.t c

3


   = 

3/2

2

1 1
1

3 x

  
 

 

 
3

2

3

1 x
c

3x

 
 

  3

1
A x

3x




m = 3

(A(x))m = 9

1

27x



Question ID : 4165299219

Option 1 ID : 41652936336 Option 2 ID : 41652936337

Option 3 ID : 41652936335 Option 4 ID : 41652936334

4. Let 

0 2q r

A p q r

p q r

 
 

  
  

. If AAT = I
3
, then |p| is :

ekuk 

0 2q r

A p q r

p q r

 
 

  
  

. ;fn AAT = I
3
, rks |p| cjkcj gS %

(1) 
1

3
(2) 

1

6
(3) 

1

5
(4) 

1

2

A. 4

S. Three columns of A represents three mutually perpendicular vectors of magnitude 1

2 20 p p 1  

22p 1

1
p

2


Question ID : 4165299209

Option 1 ID : 41652936295 Option 2 ID : 41652936297

Option 3 ID : 41652936296 Option 4 ID : 41652936294

5. Let   2a i 2 j 4k,b i j 4k and c 2i 4j ( 1)k           
  
       be coplanar vectors. Then the non-zero
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vector a c
 

 is :

ekuk   2a i 2 j 4k, b i j 4k c 2i 4 j ( 1)k           
  
     rFkk  leryh; lfn'k gSa] rks 'kwU;srj lfn'k a c

 
 gS %

(1) 14i 5j   (2) 14i 5j   (3) 10i 5j   (4) 10i 5j  

A.  4

S. a b c 0   

 

2

1 2 4

1 4 0

2 4 1

 

 

     3 21 16 2 1 8 4 4 2 0           

3 216 2 18 16 8 0          
3 22 9 18 0      

2,3, 3  

 3 a || c  
 

2 

ˆ ˆ ˆa i 2 j 4k  


ˆ ˆ ˆc 2i 4 j 3k  


ˆ ˆ ˆi j k
ˆ ˆa c 1 2 4 10i 5j

2 4 3

    
 

Question ID : 4165299230

Option 1 ID : 41652936381 Option 2 ID : 41652936379

Option 3 ID : 41652936378 Option 4 ID : 41652936380

6. If tangents are  drawn to the ellipse x2 + 2y2 = 2 at all points on the ellipse other than its four vertices then

the mid points of the tangents intercepted between the coordinate axes lie on the curve :

;fn nh?kZor̀ x2 + 2y2 = 2 ds pkj 'kh"kksZ ds vfrfjDr blds lHkh fcUnqvksa ij Li'kZ js[kk;sa [khaph xbZ gSa] rks bu Li'kZ js[kkvksa ds

funs'kkad v{kksa ds chp ds var%[kaMksa ds e/; fcUnq fuEu esaa ls fdl oØ ij gS \

(1) 
2 2x y

1
2 4

  (2) 2 2

1 1
1

2x 4y
  (3) 2 2

1 1
1

4x 2y
  (4) 

2 2x y
1

4 2
 

A. 2

S.
2 2x y

1
2 1

 

 P 2 cos ,sin 

x 2 cos 9 sin
1

2 1

   
 
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x cos
ysin 1

2


  

     cos x 2sin y 2 0    

x-intercept = 
2

,0
cos

 
   

y-intercept = 
1

0,
sin

 
 

 

mid point = (h, k) = 
1 1

,
2sin2 cos

 
  

1
h

2 cos




1
k

2sin




1
cos

2h
 

1
sin

2k
 

2 2

1 1
1

2h 4k
 

2 2

1 1
1

2x 4y
 

Question ID : 4165299227

Option 1 ID : 41652936368 Option 2 ID : 41652936366

Option 3 ID : 41652936367 Option 4 ID : 41652936369

7. Two circles with equal radii are intersecting at the points (0,1) and (0, –1). The tangent at the point (0, 1) to

one of the circles passes through the centre of the other circle. Then the distance between the centres of

these circles is :

cjkcj f=kT;k ds nks o`r] fcUnqvksa (0,1) rFkk (0, –1) ij dkVrs gSaA buesa ls ,d o`r ds fcUnq (0, 1) ij Li'kZ js[kk nwljs o`r ds

dsUnz ls gksdj tkrh gS] rks bu o`rksa ds dsUnzksa ds chp dh nwjh gS %

(1) 2 (2) 2 2 (3) 1 (4) 2

A. 1

S.

(0,–1)

(0,–1)

A

B

C

AC = 2r

rr

r
2

0

1

In  ABO
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2
2 r

r 1
2

 

2r
1

2
    r 2

AC 2 2 2  

Question ID : 4165299223

Option 1 ID : 41652936352 Option 2 ID : 41652936350

Option 3 ID : 41652936351 Option 4 ID : 41652936353

8. The direction ratios of normal to the plane through the points (0, –1, 0) and (0, 0, 1) and making an angle

4


 with the plane y – z + 5 = 0 are :

fcUnqvksa (0, –1, 0) rFkk (0, 0, 1) ls gksdj tkus okys rFkk lery y – z + 5 = 0 ds lkFk
4


 dk dks.k cukus okys lery ds

vfHkyEc ds fnd vuqikr gS %

(1) 2 3,1, 1 (2) 2, –1, 1 (3) 2,1, 1 (4) 2, 2, 2

A. 4

S. ax + b(y + 1) + cz = 0

(0,0,1)

b + c = 0

2 2 2

a 0 b 1 cx 1
cos

4 2 a b c

     


 

2 2 2

1 b c

2 2 a b c




 

a2+b2+c2 = b2+c2 – 2bc

  2a 2bc 
b = –c
a2 = 2c2

  a 2c 

(a, b, c) =  2c, c,c 

 2, 1,1  

 2, 1,1   or  2, 1,1  

Question ID : 4165299228

Option 1 ID : 41652936371 Option 2 ID : 41652936372

Option 3 ID : 41652936370 Option 4 ID : 41652936373

9. Let [x] denote the greatest integer less than or equal ot x. Then :
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     
2

2

2x 0

tan sin x x sin x x
lim

x

  
 :

(1) equals  (2) equals  + 1 (3) does not exist (4) equals 

ekuk [x], x ds leku ;k mlls de egre iw.kkZd dks n'kkZrk gS] rks

     
2

2

2x 0

tan sin x x sin x x
lim

x

  
:

(1) 0 ds cjkcj gS (2)  + 1 ds cjkcj gS (3) dk vfLrRo ugha gS (4) dss cjkcj gS

A. 3

S. RHL = 
     

2
2

2x 0

tan sin x x sin x x
lim

x

  

RHL =
   

22

2
x 0

tan sin x x
lim

x

 

RHL =
 2

2
x 0

tan sin x
lim 1

x




RHL =
 2 2

2 2
x 0

tan sin x sin x
lim . 1 1

sin x x

 
   



LHL =

2

2

x 0 x 0

sin x
1

x sin x x
lim lim

x  

 
         

 
=

L.H.L   R.H.L. (D.N.E.)

Question ID : 4165299215

Option 1 ID : 41652936319 Option 2 ID : 41652936320

Option 3 ID : 41652936321 Option 4 ID : 41652936318

10. The outcome of each of 30 items was observed; 10 items gave an outcome 
1

d
2

  each, 10 items gave

outcome 
1

2
 each and the remaining 10 items gave outcome 

1

2
 + d each. If the variance of this outcome

data is 
4

3
 then |d| equals :

30 vkbVe (items) dk ifj.kke ns[kk x;k( buesa ls 10 vkbVe esa izR;sd us ifj.kke 
1

d
2

  fn;k] 10 vkbVe esa izR;sd us

ifj.kke 
1

2
 fn;k rFkk ckdh 10 vkbVe esa izR;sd us ifj.kke 

1

2
 + d fn;kA ;fn bu vk¡dM+ksa dk izlj.k 

4

3
 gS] rks |d| cjkcj

gS %

(1) 
5

2
(2) 2 (3) 2 (4) 

2

3
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A. 3

S. Variance is independent of origin solve shift the data by 
1

2

 
 
 

 
 

22 2
210d 10 0 10d 4

0
30 3

  
 

d 2 

Question ID : 4165299231

Option 1 ID : 41652936384 Option 2 ID : 41652936383

Option 3 ID : 41652936382 Option 4 ID : 41652936385

11. A square is inscribed in the circle x2 + y2 - 6x + 8y - 103 = 0 with its sides parallel to the coordinate axes.

Then the distance of the vertex of this square which is nearest to the origin is :

funs'kkad v{kksa ds lekUrj Hkqtkvksa dk ,d oxZ] or̀ x2 + y2 - 6x + 8y - 103 = 0 ds varxZr gS] rks bl oxZ dk og 'kh"kZ tks

ewy fcUnw ds lcls fudV gS] fd nwjh gS %

(1) 6 (2) 13 (3) 41 (4) 137

A. 3

S.

Question ID : 4165299225

Option 1 ID : 41652936358 Option 2 ID : 41652936360

Option 3 ID : 41652936359 Option 4 ID : 41652936361

12. The area (in sq. units) of the region bounded by the curve x2 = 4y and the straight line x = 4y - 2 is :

oØ x2 = 4y rFkk ljy js[kk x = 4y - 2 }kjk f?kjs {ks=k dk {ks=kQy ¼oxZ bdkb;ksa esa½ gS %

(1) 
3

4
(2) 

7

8
(3) 

9

8
(4) 

5

4

A. 3

S.

x2 = 4y
x = 4y – 2
(4y – 2)2 – 4y = 0
16y2 + 4 – 16y – 4y = 0
16y2 – 20y + 4 = 0
4y2 – 5y + 6 = 0
4y2 – 4y – y + 1 = 0
4y (y – 1) –1 (y – 1) = 0
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y = 1, 
1

y
4



y = 1 ; x2 = 4
x = ±2

y = 
1

4
 ; x2 = 1   x = ± 1

x = 2, –1

2
2

1

x 2 x 9
dx

4 4 8

 
  

 


Question ID : 4165299221

Option 1 ID : 41652936342 Option 2 ID : 41652936345

Option 3 ID : 41652936343 Option 4 ID : 41652936344

13. Let    k k

k

1
f x sin x cos x

k
   for k = 1, 2, 3,.........Then for all x  R, the value of f

4
(x) – f

6
(x) is equal

to

ekuk k = 1, 2, 3,.........ds fy,     k k

k

1
f x sin x cos x

k
  rks lHkh x  R ds fy,]  f

4
(x) – f

6
(x) dk eku cjkcj gS

(1) 
1

4
(2) 

1

12


(3) 

1

12
(4) 

5

12

A. 3

S.    4 4

4

1
f x sin x cos x

4
 

=   22 2 2 21
sin x cos x 2sin x cos x

4
 

= 
21 1

1 sin 2x
4 2

 
 

 

= 
1 1

4 8
  sin2 2x

   6 6

6

1
f x sin x cos x

6
 

  2 2 4 2 2 41
cos x sin x sin x sin x cos x cos x

6
   

 2 2 2 21 1 1
1 3sin x cos x sin x cos x

6 6 2
   

21 1
sin 2x

6 8
 

f
4
(x) – f

6
(x) = 

1 1 3 2 1

4 6 12 12


  

Question ID : 4165299233
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Option 1 ID : 41652936392 Option 2 ID : 41652936391

Option 3 ID : 41652936390 Option 4 ID : 41652936393

14. If y(x) is the solution of the differential equation 
2xdy 2x 1

y e , x 0
dx x

 
   

 
, where 

21
y(1) e

2
 , then :

(1) y(x) is decreasing in (0, 1) (2) y(x) is decreasing in 
1

,1
2

 
 
 

(3) y (log
e
 2) = log

e
 4 (4) y (log

e
 2) = 

elog 2

4

;fn vody lehdj.k 
2xdy 2x 1

y e , x 0
dx x

 
   

 
, x > 0 dk gy y(x) gS] tgk¡

21
y(1) e

2
 , rks %

(1) (0, 1) esa y(x) gkleku gSA (2) 
1

,1
2

 
 
 

esa y(x) gkleku gSA

(3) y (log
e
 2) = log

e
 4 (4) y (log

e
 2) = 

elog 2

4

A. 2

S.
2 xdy 2x 1

y e
dx x

 
  

 

I.F. = 
2 x 1

dx
xe
 

 
   = 2 xx.e

 2 x 2 x 2 xy. x.e e .xe dx 

 
2

2 x x
y. xe c

2
 

2x 22xye x 2c 

21
1, e

2
 

 
 

c = 0

2xxe
y

2





2x 2xdy 1
2x.e e

dx 2
     

 2x1
e 1 2x

2
 

Decreases in 
1

,1
2

 
 
 

Question ID : 4165299222

Option 1 ID : 41652936348 Option 2 ID : 41652936349

Option 3 ID : 41652936347 Option 4 ID : 41652936346
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15. Let 

3
1 x iy

2 i (i 1)
3 27

 
     

 
, where x and y are real numbers, then y-x equals :

ekuk 

3
1 x iy

2 i (i 1)
3 27

 
     

 
, tgk¡ x rFkk y okLrfod la[;k;sa gSa] rks y-x cjkcj gS %

(1) - 85 (2) 85 (3) - 91 (4) 91

A. 4

S.

3
1 x iy

2 i
3 27

 
   

 

198 107i x iy

27 27

  


x = –198
y = –107

y – x = – 107 + 198 = 91

Question ID : 4165299208

Option 1 ID : 41652936293 Option 2 ID : 41652936291

Option 3 ID : 41652936292 Option 4 ID : 41652936290

16. The plane containing the line 
x 3 y 2 z 1

2 1 3

  
 


 and also containing its projection on the plane 2x + 3y -

z = 5, contains which one of the following points ?

lery] ftlesa js[kk 
x 3 y 2 z 1

2 1 3

  
 


 vUrfoZ"V gS rFkk bl js[kk dk lery 2x + 3y - z = 5 ij iz{ksi Hkh vUrfoZ"V

gS] ij fuEu esa ls dkSu lk fcUnq fLFkr gS \

(1) (2, 0, -2) (2) (0, -2, 2) (3) (2, 2, 0) (4) (-2, 2, 2)

A. 1

S.    ˆ ˆ ˆ ˆ ˆ ˆn 2i j 3k x 2i 3j k    


=      
i j k

ˆ ˆ ˆ2 1 3 i 8 j 8 k 8

2 3 1

     



ˆ ˆ ˆ8i 8 j 8k   

     8 x 3 8 y 2 8 z 1 0      

x 3 y 1 z 1 0      

x y z 3 0   

Question ID : 4165299229

Option 1 ID : 41652936375 Option 2 ID : 41652936374

Option 3 ID : 41652936376 Option 4 ID : 41652936377

17. The maximum value of  the function f(x) = 3x3 – 18x2 + 27x – 40 on the set  2S x R : x 30 11x     is :
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leqPp;  2S x R : x 30 11x     ij Qyu f(x) = 3x3 – 18x2 + 27x – 40 dk vf/kdre eku gS %

(1) 222 (2) -222 (3) -122 (4) 122

A. 4

S. f(x) = 3x3 – 18x2 + 27x – 40

f(x) = 9x2 – 36x + 27

= 9(x2 – 4x + 3)

= 9 (x – 1) (x – 3)

1 3
f(x) in (–  , 1) (3,  )
x2 – 11x + 30   0
(x – 6) (x – 5)   0

 x 5,6

   f x inx 5,6 

f(6) = 3×63 – 18 × 62 + 27 × 6 – 40
= 648 – 648 + 162 – 40 = 122

Question ID : 4165299218

Option 1 ID : 41652936332 Option 2 ID : 41652936333

Option 3 ID : 41652936331 Option 4 ID : 41652936330

18. Equation of a common tangent to the parabola y2 = 4x and the hyperbola xy = 2 is :

ijoy; y2 = 4x rFkk vfrijoy; xy = 2 dh ,d mHk;fu"B Li'kZ js[kk dk lehdj.k gS %

(1) x + 2y + 4 = 0 (2) x + y + 1 = 0 (3) x - 2y + 4 = 0 (4) 4x + 2y + 1 = 0

A. 1

S. xy = 2

2
2t,

t

 
  
 

2y
2xt 4

t
 

22t x 2y 4t 

2t x y 2 2t 

2y 4x

y = mx + 
1

m

2my m x 1 

2m x my 1 0  
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2t x y 2 2t 0  

2

2

m m 1

t 1 2 2t


  

2m t 
1

m
2 2t



2 1
t

2 2t
 

3 1
t

2 2
 

  
1

t
2

 

x
y

2
  = – 2

  x + 2y + 4 = 0

Question ID : 4165299226

Option 1 ID : 41652936365 Option 2 ID : 41652936363

Option 3 ID : 41652936362 Option 4 ID : 41652936364

19. The sum of an infinite geometric series with positive terms is 3 and the sum of the cubes of its terms is 
27

19
.

Then the common ratio of this series is :

/ku inksa dh ,d vuUr xq.kksÙkj Js.kh dk ;ksx 3 gS rFkk blds inksa ds ?kuksa (cubes) dk ;ksx 
27

19
 gS] rks bl Js.kh dk lkoZ

vuqikr gS %

(1) 
1

3
(2) 

4

9
(3) 

2

3
(4) 

2

9

A. 3

S.
a

3
1 r




3

3

a 27

1 r 19




2
r

3


Question ID : 4165299213

Option 1 ID : 41652936312 Option 2 ID : 41652936310

Option 3 ID : 41652936313 Option 4 ID : 41652936311

20. The sum of the real values of x for which the middle term in the binomial expansion of 

83x 3

3 x

 
 

 
 equals

5670 is :



14Matrix JEE Academy : Piprali Road, Sikar Ph. 01572-241911, Mob. 97836-21999, 97836-31999

Matrix
JEE Academy

JEE (MAIN ONLINE) 2019

x ds mu okLrfod ekuksa ftudsa fy, 

83x 3

3 x

 
 

 
 ds f}in izlkj dk e/; in 5670 gS] dk ;ksx gS %

(1) 8 (2) 4 (3) 0 (4) 6

A. 3

S.

4 43
8

5 4

x 3
T C 5670

3 x

   
     

  

x 3 

sum = 0

Question ID : 4165299211

Option 1 ID : 41652936305 Option 2 ID : 41652936303

Option 3 ID : 41652936302 Option 4 ID : 41652936304

21. Two integers are selected at random from the set {1, 2,........, 11}. Given that the sum of selected numbers

is even, the conditional probability that both the numbers are even is :

leqPp; {1, 2,........, 11} ls nks iw.kkZad ;kn`fPNd fy, x;s gSaA fn;k gS fd yh xbZ la[;kvksa dk ;ksx le gS] nksuksa la[;kvksa

ds le gksus dh lizfrca/k (conditional) izkf;drk gS %

(1) 
7

10
(2) 

2

5
(3) 

1

2
(4) 

3

5

A. 2

S. Either both the no's are odd or even

= 5C
2
 + 6C

2

5

2

5 6

2 2

C 2
P

C C 5
 



Question ID : 4165299232

Option 1 ID : 41652936389 Option 2 ID : 41652936386

Option 3 ID : 41652936387 Option 4 ID : 41652936388

22. The straight line x + 2y = 1 meets the coordinate axes at A and B. A circle is drawn through A, B and the

origin. Then the sum of perpendicular distances from A and B on the tangent to the circle at the origin is :

ljy js[kk x + 2y = 1 funs'kkad v{kksa dks A rFkk B ij dkVrh gSA ewy fcUnq] A rFkk B ls gksdj tkus okyk or̀ [khapk x;k gS]

rks ewy fcUnq ij o`r dh Li'kZ js[kk dh A rFkk B ls yEcor nwfj;ksa dk ;ksx gS %

(1) 
5

2
(2) 

5

4
(3) 2 5 (4) 4 5

A. 1
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S.

(0,1/2)

(1,0)

l1

l2

(x – 1)(x – 0)+(y – 0)(y – 1/2) = 0

Tangent   2x y 0 

1

1 / 2 1

5 2 5
 l

2

2 2

5 5
 l

l
1
 + l

2 
= 

1 2 5 5

22 5 5 2 5
  

Question ID : 4165299224

Option 1 ID : 41652936357 Option 2 ID : 41652936355

Option 3 ID : 41652936356 Option 4 ID : 41652936354

23. If q is false and p  q r is true, then which one of the following statements is a tautology ?

;fn q vlR; gS rFkk p  q r lR; gS] rks fuEu esa ls dkSu lk dFku ,d iqu:fDr (tautology) gS \

(1) (p  r) (p r) (2) p r (3) (p r) (p r) (4) p r

A. 3

S. Given q is F and (p q) r is T

  p q  is F which implies that r is F

 q is F and r is F

 (p r) is always F

 (p r)   (p r) is tautology

Question ID : 4165299235

Option 1 ID : 41652936401 Option 2 ID : 41652936398

Option 3 ID : 41652936400 Option 4 ID : 41652936399

24. The value of r for which 20 20 20 20 20 20 20 20
r 0 r 1 1 r 2 2 0 rC C C C C C ...... C C      is maximum, is :

r dk og eku] ftlds fy, 20 20 20 20 20 20 20 20
r 0 r 1 1 r 2 2 0 rC C C C C C ...... C C      vf/kdre gS] gS %

(1) 20 (2) 11 (3) 10 (4) 15

A. 1

S. 20 20 20 20 20 20 20 20
r 0 r 1 1 r 2 2 0 rC C C C C C ...... C C      = 40C

r

this is maximum when r = 20
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Question ID : 4165299214

Option 1 ID : 41652936317 Option 2 ID : 41652936314

Option 3 ID : 41652936316 Option 4 ID : 41652936315

25. If one real root of the quadratic equation 81x2+kx+256=0 is cube of the other root, then a value of k is :

;fn f}?kkr lehdj.k 81x2 + kx + 256 = 0 dk ,d ewy nwljs ewy dk ?ku (cube) gS] rks k dk ,d eku gS %

(1) 144 (2) -81 (3) -300 (4) 100

A. 3

S. 281x kx 256 0  

3 256
.

81
  

4

4 4

3

 
   

 

  
4

3
  Sum of roots = 

k

81
 = 

4 64

3 27


k= –300

Question ID : 4165299207

Option 1 ID : 41652936288 Option 2 ID : 41652936289

Option 3 ID : 41652936286 Option 4 ID : 41652936287

26. If the system of linear equations

2x + 2y + 3z = a

3x - y + 5z = b

x - 3y + 2z = c

Where a, b, c are non-zero real numbers, has more than one solution, then :

;fn jSf[kd lehdj.k fudk;

2x + 2y + 3z = a

3x - y + 5z = b

x - 3y + 2z = c

tgk¡ a, b, c 'kwU;srj okLrfod la[;k;sa gSa] ds ,d ls vf/kd gy gSa] rks %

(1) a + b + c = 0 (2) b - c - a = 0 (3) b + c - a = 0 (4) b - c + a = 0

A. 2

S. P
1
 + P

3
 = P

2

  a + c = b

Question ID : 4165299210

Option 1 ID : 41652936301 Option 2 ID : 41652936300

Option 3 ID : 41652936298 Option 4 ID : 41652936299

27. Let a
1
, a

2
,.......a

10
 be a G. P. If 

3

1

a
25

a
 , then 

9

5

a

a  equals :
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ekuk a
1
, a

2
,.......a

10
 ,d xq.kksrj Js<+h gSA ;fn 

3

1

a
25

a
 , rks 

9

5

a

a  cjkcj gS%

(1) 4(52) (2) 53 (3) 54 (4) 2(52)

A. 3

S. a ar ar2 .................. ar9

2ar

a
=25                 r = ±5

8

4

ar

ar
      =      r4 = 54

Question ID : 4165299212

Option 1 ID : 41652936307 Option 2 ID : 41652936308

Option 3 ID : 41652936309 Option 4 ID : 41652936306

28. In a triangle, the sum of lengths of two sides is x and the product of the lengths of the same two sides is y. If

x2 - c2 = y, where c is the length of the third side of the triangle, then the circumradius of the triangle is :

,d f=kHkqt dh nks Hkqtkvksas dh yEckbZ dk ;ksx x gS vkSj bUgha nks Hkqtkvksa dh yEckbZ dk xq.kuQy y gSA ;fn x2 - c2 = y, tgk¡

c f=kHkqt dh rhljh Hkqtk dh yEckbZ gS] rc f=kHkqt ds ifjo`r dh f=kT;k gS %

(1) 
y

3
(2) 

3
y

2
(3) 

c

3
(4) 

c

3

A. 4

S. a + b = x

x2 – c2 = y

(a + b)2 – c2 = ab

(a + b + c) (a + b – c) = ab

a2 + b2 – c2 = –ab

2 2 2a b c 1

2ab 2

  


1
cosC

2
 

2
C

3




c
R

2sin C
  = 

c

3

Question ID : 4165299234

Option 1 ID : 41652936396 Option 2 ID : 41652936397

Option 3 ID : 41652936394 Option 4 ID : 41652936395

29. Let f : R R be defined by f(x) = 2

x
,x R

1 x



. Then the range of f is :
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ekuk f : R R,  f(x) = 2

x
,x R

1 x



}kjk ifjHkkf"kr fd;k x;k gS] rks f  dk ifjlj gS %

(1) 
1 1

,
2 2

 
  

(2) R - [-1, 1] (3) (-1, 1) - {0} (4) 
1 1

R ,
2 2

 
   

A. 1

S.   2

x
f x

1 x




y + x2y = x
x2y – x + y = 0

D 0
21 4y 0 

24y 1 0 

1 1
y ,

2 2

 
   

Question ID : 4165299206

Option 1 ID : 41652936285 Option 2 ID : 41652936283

Option 3 ID : 41652936284 Option 4 ID : 41652936282

30. Let f(x) = 2

1, 2 x 0

x 1, 0 x 2

   


  
 and g(x) = |f(x)|+f(|x|). Then, in the interval (-2, 2), g is :

(1) not differentiable at two points (2) differentiable at all points

(3) not continuous (4) not differentiable at one point

ekuk f(x) = 2

1, 2 x 0

x 1, 0 x 2

   


  
 rFkk g(x) = |f(x)|+f(|x|), rks varjky (-2, 2) esa g %

(1) nks fcUnqvksa ij vodyuh; ugha gSA (2) lHkh fcUnqvksa ij vodyuh; gSA

(3) larr ugha gSA (4) ,d fcUnq ij vodyuh; ugha gSA

A. 4

S.  
2

1 2 x 0
f x

x 1 0 x 2

   
 

  

g(x) = |f(x)| + f(|x|)

|f(x)| 
2

2

1 2 x 0

1 x 0 x 1

x 1 1 x 2

   


   
   

 2f x x 1 2 x 2    

 

2

2

x 2 x 0

g x 0 0 x 1

2x 2 1 x 2

   


  
   

not differentiable at 1
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Question ID : 4165299217

Option 1 ID : 41652936328 Option 2 ID : 41652936329

Option 3 ID : 41652936326 Option 4 ID : 41652936327


